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1. Given i = 10%, find the minimum value of X that makes Project A1 acceptable using the NPW criterion.


Project Cash Flow

n

A1

0

-4000

1

2000

2

X

3

2500

4

X

NPW >= 0  
0 <= -4000 +2000(P/F, 10%,1) +X(P/F, 10%, 2) +2500(P/F, 10%, 3) +X(P/F, 10%, 4)
0 <= -$4000 +$1818.18 + 0.82644$X +$1878.29 +0.68301$X
0 <= -$303.53 + 1.50945$X
$303.53 <= 1.50945X

X(NPW) >= $201.09

2. Consider the following two mutually exclusive investment projects, which have unequal service lives.



Project’s Cash Flow

n

  A1

   A2

0

-500

-1500

1

-200

-150

2

-200

-150

3

-200+400
-150

4



-150

5



-150

6



-150+850

Assume that both alternatives will be available in the future with the same investment and expenses.  Given that i = 10%, determine which project should be selected. Use Shorthand economic Form.

Project A1 = -500 -200(P/A, 10%, 3) +400(P/F, 10%, 3) + Purchase another A1 at end of year 3 to equate to A2 (LCM)

    = -$500 - $497.37 +$300.53 + Purchase another A1 at end of year 3


    =  -$696.84 -$696.84(P/F ,10%, 3)

    = -$1220.39
Project A2 = -1500 – 150(P/A, 10%, 6) +850(P/F , 10%, 6)


    = -$1500 - $653.29 + $479.80


    = -$1673.49
Select Project A1.
a. Give three main differences between a sole proprietorship and a regular for-profit corporation.

1. Liability
2. Tax

3. Ability to raise capital

b. What is meant by 

i. Current Assets
They can be converted to cash or its equivalent in less than one year.

ii. Accounts Receivable
It is money that is owed to the firm but has not yet been received.

Continue over if needed
